
CCA-
E30ASX
CCA-

83

CCA-E30ASX
CCA-E36ASX
CCA-E48ASX

4



Cache
CCA-E30ASX, CCA-E36ASX, CCA-E48ASX  
Ref # Part # Description Qty.
1 54050009 Collar, Starting, 3 1/4" x 10" 1
3 54140028 Bracket, Motor 2
4 50210004 Filter, Baffle (48" x 3) 2
5 50120028 Panel, Spice Shelf Side, Right 1
6 50120029 Panel, Spice Shelf Side, Left 1
7 54050052 Plate, 6" Round 1
8 52170034 Cover Plate, Controls 1
9 56240012 Cover Plate, Switch Interior 1
10 54050049 Cover Plate, Top 1
11 54120008 Bracket, Spice Door 2
12 50110045 Panel, Light (CCA-E30ASX) 2
12 50110046 Panel, Light (CCA-E36ASX) 2
12 50110047 Panel, Light (CCA-E48ASX) 4
13 50100004 Panel, Switch (CCA-E30ASX) 1
13 50100005 Panel, Switch (CCA-E36ASX) 1
13 50100006 Panel, Switch (CCA-E48ASX) 1
14 50140071 Panel, Spice Shelf (CCA-E30ASX) 1
14 50140072 Panel, Spice Shelf (CCA-E36ASX) 1
14 50140076 Panel, Spice Shelf (CCA-E48ASX) 1
15 50330003 Rod  Spi e Doo  (CCA E30ASX) 115 50330003 Rod, Spice Door (CCA-E30ASX) 1
15 50330004 Rod, Spice Door (CCA-E36ASX) 1
15 50330005 Rod, Spice Door (CCA-E48ASX) 1
16 54140036 Bracket, Filter (CCA-E30ASX) 1
16 54140037 Bracket, Filter (CCA-E36ASX) 1
16 54140041 Bracket, Filter (CCA-E48ASX) 1
17 50140073 Panel, Interior Cover (CCA-E30ASX) 1
17 50140074 Panel, Interior Cover (CCA-E36ASX) 1
17 50140077 Panel, Interior Cover (CCA-E48ASX) 1
19 54050050 Collar, 8" Round 1
20 52170033 Housing, Switch Board 1
21 56200051 Box, Component 1
22 56210024 Cover, Component Box 1
23 50400007 Button, Switch 1
24 52110011 Membrane 1
25 50300041 Door, Spice (CCA-E30ASX) 1
25 50300042 Door, Spice (CCA-E36ASX) 1
25 50300043 Door, Spice (CCA-E48ASX) 1
30 11030028 Wires, Electrical 1
33 56220021 Gasket 1
44 Z0B-0020 Bulb, Halogen 50W GU-10 (48" x 4) 2



45 54190002 Plate, Light Socket (48" x 4) 2
46 56250002 Insulator, Light Socket (48" x 4) 2
47 54200011 Junction Box 1
48 56200049 Housing, Light Socket (48" x 4) 2
49 54050043 Transition Adaptor, 6" to 3 1/4" x 10" 1
50 56200050 Cover, Switch Housing 1
56 54050053 Plate, Wire 1
62 11030030 Cable, Harness, External Blower 1
64 12100034 Socket, Light, Right (48" x 2) 1
65 12100035 Socket, Light, Left 1
68 01090005 Screw, M6 x 20mm 2
69 01090006 Screw, M6 x 29mm 4
70 11010028 Board, Switch 1
71 11010031 Board, Control 1
72 12170002 Fuse, 4A, 250V 1
75 56240010 Spacer, Rubber 2
76 01020016 Screw, SS Cariage x 1/2" 2
80 54140029 Filter Spring Clip 5
81 50320021 Rail, Spice Door (CCA-E30ASX) 1
81 50320022 Rail, Spice Door (CCA-E36ASX) 1
81 50320025 Rail, Spice Door (CCA-E48ASX) 1
82 50320023 Rail, Spice Shelf (CCA-E30ASX) 1
82 50320024 Rail, Spice Shelf (CCA-E36ASX) 1
82 50320026 Rail, Spice Shelf (CCA-E48ASX) 1
84 54140039 Piston 2
85 54140038 Holder, Bottom Piston 2
86 56210025 Cover, Piston Holder 8
88 54140040 Holder, Top Piston 2
91 12100036 Socket, Light (CCA-E48ASX) 1
92 12100037 Socket, Light (CCA-E48ASX) 1
83 05000047 Hardware Packet 1
83-1 01650001 Screw, 3/16" x 3/8" 4
83-2 01070009 Screw, M4 x 6mm 4
83-3 01070007 Screw, M4 x 16mm 4
83-4 01090001 Screw, M6 x 1" 4
83-5 01090002 Screw, M6 x 1 1/2" 4
83-6 01090003 Screw, M6 x 2" 4
83-7 15000002 Cap, Wire 3
83-8 56170001 Zip Tie Fastener 1
83-9 54050054 Zip Tie Fastener Plate 1
83-10 01060001 Screw, M3.5 x 10mm 4
83-11 01070010 Screw, M4 x 8mm 22
83-12 00100014 Allen Wrench 1
83-13 15000004 Suction Cup 1
JUL11.0401


	CCA.pdf
	xCCA

